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What is the perimeter of a rectangle with a length of 5 cm and a width of 3 cm?

O 8cm
O 15cm
O16cmy
O 18cm

The perimeter of a rectangle is calculated by adding together the lengths of all its sides. For a rectangle
with a length of 5 cm and a width of 3 cm, the perimeter is 16 cm.

Which of the following are equivalent to the fraction 3/4?

(Jo.75 v
(J75% v
Jo12 v
(J172

The fraction 3/4 is equivalent to any fraction that can be simplified to the same value, such as 6/8 or 9/12.
Additionally, it can be expressed as a decimal (0.75) or a percentage (75%).

Explain how you would convert the fraction 5/8 into a decimal. Show your work and reasoning.

| Divide 5 by 8 to get 0.625.
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What is the mean of the following set of numbers: 4, 8, 6, 10, 12?

OF:
O9v
O 10
On

To find the mean of a set of numbers, you add all the numbers together and then divide by the count of
the numbers. In this case, the mean of 4, 8, 6, 10, and 12 is 8.

Which of the following are properties of a square?

(J All sides are equal v

(J Opposite sides are parallel v’
(7] All angles are 90 degrees v’
(] Diagonals are unequal

A square has four equal sides, four right angles, and its diagonals bisect each other at right angles and
are equal in length.

Describe the process of finding the area of a triangle. Include an example with numbers.

/7

Use the formula 1/2 * base * height. For example, if the base is 4 cm and the height is 3 cm, the
areais 1/2*4*3 =6 cm2

If a circle has a radius of 7 cm, what is its circumference? (Use m= 3.14)

O 21.98 cm
O 43.96cm v
O 49 cm

O 14cm
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The circumference of a circle can be calculated using the formula C = 2rr, where r is the radius. For a
circle with a radius of 7 cm, the circumference is approximately 43.96 cm.

Which of the following expressions are equivalent to 4x + 2x?

O6xv
O2@2x +x) v
() 8x
Ox@+2) v

The expression 4x + 2x can be simplified by combining like terms, resulting in 6x. Therefore, any
expression that equals 6x is equivalent to 4x + 2x.

Discuss how you would solve the equation 3x - 5 = 16. Provide a step-by-step explanation.

| Add 5 to both sides to get 3x = 21, then divide by 3 to find x = 7.

What is 25% of 200?

O 25
O50v
O 75
O 100

| To find 25% of a number, you can multiply the number by 0.25. Therefore, 25% of 200 is 50.

Which of the following are methods to solve a proportion?

(J Cross-multiplication v’
(] Adding the numerators

() Scaling up or down v/
(1) Subtract the denominators
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To solve a proportion, common methods include cross-multiplication, finding a common denominator, and
using equivalent fractions. Each method allows for the determination of the unknown variable in the
proportion.

Explain the difference between a bar graph and a line graph. When would you use each type?

VZ

A bar graph is used for comparing quantities, while a line graph is used for showing trends over
time.

What is the volume of a cube with side length 4 cm?

O 16 cmd
O 24 cm3
O64cmi v
O 48 cmd

The volume of a cube can be calculated using the formula V = side”3. For a cube with a side length of 4
cm, the volume is 64 cm3.

Which of the following are true about decimals?

(0 They can be converted to fractions v’

(] They are always greater than 1

(] They can be added and subtracted like whole numbers v/
(J They represent parts of a whole v’

Decimals are a way to represent fractions and can be used in various mathematical operations. They are
based on the base-10 number system and can be expressed in finite or infinite forms.

How would you approach solving a word problem involving the ratio of apples to oranges? Describe
your strategy.
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| Identify the ratio, set up a proportion if needed, and solve for the unknown quantity.

If a train travels 60 miles in 1.5 hours, what is its average speed in miles per hour?

(O 30 mph
O 40 mph v
(O 50 mph
O 60 mph

To find the average speed, divide the total distance traveled by the total time taken. In this case, the
average speed is 40 miles per hour.

Which of the following are ways to simplify the fraction 8/12?

(O Divide both numerator and denominator by 2 v/
(1) Divide both numerator and denominator by 4 v/
(] Multiply both numerator and denominator by 2

() Divide both numerator and denominator by 3

To simplify the fraction 8/12, you can divide both the numerator and the denominator by their greatest
common divisor, which is 4, resulting in 2/3.

Describe how you would calculate the probability of rolling a 4 on a standard six-sided die.
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| The probability is 1/6, as there is one favorable outcome and six possible outcomes.

What is the simplified form of the expression 3(2x + 4)?

O 6x+4
O6x+12 v
O 2x+12
O3x+8

To simplify the expression 3(2x + 4), you distribute the 3 to both terms inside the parentheses, resulting
in 6x + 12.

Which of the following are examples of units of mass?

(J Kilogram v/
() Liter

() Gram v

() Meter

Units of mass include grams, kilograms, and pounds, which are standard measurements used to quantify
the amount of matter in an object.

Explain the steps involved in converting a percentage to a decimal. Provide an example with your
explanation.

| Divide the percentage by 100. For example, 75% becomes 0.75.

If the mean of five numbers is 20, what is the sum of these numbers?

O 80
O 90
O 100 v
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O 110

To find the sum of the numbers when the mean is known, multiply the mean by the number of values. In
this case, the sum is 20 multiplied by 5, which equals 100.

Which of the following are characteristics of a parallelogram?

() Opposite sides are equal v’

(1) Opposite angles are equal v
() Diagonals bisect each other v/
(] All angles are 90 degrees

A parallelogram is characterized by having opposite sides that are equal in length, opposite angles that
are equal, and adjacent angles that are supplementary. Additionally, the diagonals of a parallelogram
bisect each other.

Discuss the importance of understanding units of measurement in real-life situations. Provide
examples.

VZ

Understanding units is crucial for tasks like cooking, construction, and science experiments to
ensure accuracy and safety.

What is the mode of the following set of numbers: 3,7, 3, 8,9, 3,5?

Osv
O5
07
OF:

The mode of a set of numbers is the value that appears most frequently. In this case, the number 3
appears three times, more than any other number in the set.

Which of the following are true statements about percentages?
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(] They are always less than 100

(J They can be greater than 100 v

(] They represent a part of a whole v’
(] They are the same as fractions

Percentages represent a fraction of 100 and are commonly used to compare relative sizes or
proportions. They can be converted to decimals and are useful in various applications such as finance,
statistics, and everyday calculations.

Explain how you would solve a problem involving the area of a circle. Include an example with
calculations.

| Use the formula mir2. For example, if the radius is 3 cm, the area is 3.14 * 32 = 28.26 cm2.
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